
HONORS FIZZIX PREX #1 2015 (Ch1 & 2) - SOLUTIONS 
Multiple Guess Section: 

1.  

 

 Area bounded by the curve is the displacement By inspection of particle A the positive area 

between 0 and 1s will be countered by an equal negative area between 1 and 2s. 

B 

2. 

 

Between 0 and 1 s; d1 = vt; from 1 to 11 seconds; d2 = v0t + ½ at
2
; d = d1 + d2 C 

3. 

 

Since the slope is positive and constant, so is the velocity, therefore the acceleration must be zero A 

4.  

 

From rest, h = ½ gt2 C 

 



5. 

 

From the equation d = ½ at2, displacement is proportional to time squared.  Traveling from rest for 

twice the time gives 4 times the displacement (or 4 m).  Since the object already travelled 1 m in the 

first second, during the time interval from 1 s to 2 s the object travelled the remaining 3 m 

C 

6. 

 

Uniformly accelerated means the speed-time graph should be a stright line with non-zero slope.  

The corresponding distance-time graph should have an increasing slope (curve upward) 

E 

7. 

 

From a height of 45 m (= ½ gt2) it takes 3 seconds to strike the ground.  In that time, the ball thrown 

traveled 30 m.  v = d/t 

B 

8. 

 

9.8 m/s2 can be thought of as a change in speed of 9.8 m/s per second. A 

 

 



9. 

 

vi = 0 m/s; vf = 30 m/s; t = 6 s; t
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D 

10. 

 

While the object momentarily stops at its peak, it never stops accelerating downward. D 

FREE-RESPONSE SECTION: 

 



 


